

City of Stoughton Office of the City Clerk / Personnel Director

April 23, 2014

Dear Property Owner:

A street improvement project is scheduled for your area this construction season. Under city ordinances, the property owner is assessed 50% of the costs for sidewalks, and replacement of curb and gutter. Property owners are assessed 100% of costs for driveways, driveway aprons, retaining walls (portion up to four feet) and carriage sidewalks. A preliminary assessment is prepared using engineering estimates. Once the work has been completed and actual costs are available, you will be sent a final assessment representing your portion of actual costs. The final cost should not exceed your preliminary estimate unless additional work is approved by you, the owner.

Your preliminary assessment for parcel # is \$. This is not an invoice. Please do not send payment for the project until you receive a final bill. The work scheduled to be completed is estimated as follows:

Curb & Gutter Preliminary Cost Estimate Driveway Apron Preliminary Cost Estimate Sidewalk Preliminary Cost Estimate

Total Preliminary Cost

Accompanying this letter is a copy of the Resolution that was passed, along with a schedule of assessments in your area. An invitation to an Open House to discuss this year's project is also included. You are encouraged to attend this Open House to learn more about the project and ask questions related to the project and associated special assessments.

If you would like to discuss the project further, please contact Rodney Scheel, Director of Planning and Development at (608) 873-6619 or by email at: rjscheel@ci.stoughton.wi.us

Sincerely, CITY OF STOUGHTON

Maria Hougan Acting City Clerk

City of Stoughton



You are invited you to an Open House to learn about this year's street and sidewalk construction project in your neighborhood. You will have an opportunity to ask questions of City Staff and the Project Engineer about the project and associated special assessments.

Open House

Monday, April 28, 2014

6:30-7:30 p.m.

Council Chambers, Second Floor, 321 S Fourth St.

If you have questions, please contact Director of Planning and Development, Rodney Scheel at 608-873-6619 or rjscheel@ci.stoughton.wi.us

								Fo	rton Street	- Prelimin	ary Assessi	ments - 4-1	7-2014																	
Parcel Number	Property Address	Owners Name	Owners Address	Owners City Lot Description		Curb & Gutte	ir	Percent	Assessed			Side	walk Replace	ment		Perc	Assessed	Concre	te Apron Rep	acement		Percent	Assessed		Driveway cement		Percent	Assessed	Miscellaneous Assessments	Total Assessment
T BICKI TOTAL	1 Topally Possess	Owners Name	Omera Addeda		Length (Ft)	Unit Cost	Total Cost	Assessible	Costs	Area (Sq. Ft.)	Thickness (inch)	Unit Cost	2nd Area (Sq. Ft.)	Thickness (inch)	Unit Cost Total C	ost Asses	Costs	Area (Sq. Ft.)	Thickness (inch)	Unit Cost	Total Cost	Assessible	Costs	Area (sq. ft)	Unit Cost	Total Cost	Assessible	Costs	Note	
				SEC 5-5-11 PRT SE1/ASW1/4 BEG 627 FT N OF S LN OF SD SE1/ASW1/4 IN CTR OF PAGE ST THE 115.5 FT TH S 132 FT TH W 115.5 FT TH N TO POB	6	\$29.70	\$178.20	50%	\$ 89.10	0	4	\$6.05	0	6	\$6.60 \$0.0	0 50	% \$0.00	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$89
0511-053-9875-9	215 N PAGE ST	ANNE L BOYLE	215 N PAGE ST	STOUGHTON. WI 53589 SEC 5-5-11 PRT SE1/4 SW1/4 COM SW COR LOT 15 BLX 1 SARAH E T URNER ADD THE 115.5 FT TO POB TH S R RD E 4 RD TH N 8 RD TH W 4 RD TO POB	0	\$29.70	\$0.00	50%	s -	0	4	\$6.05	50	6	\$6.60 \$330	00 50	% \$165.00	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$165
0511-053-9885-7	216 FORTON ST	SCOTT A NELSON	216 FORTON ST	STOUGHTON, WI 53685 SEC 5-5-11 PRT SE1/4SW1/4 BEG 1 ROD W OF SE COR LOT 13 BLOCK 1 SARAH E TURNER'S ADON THE 5 RODS TH 8 RODS TH W 5 RODS TH N TO POB	5	\$29.70	\$148.50	50%	\$ 74.25	0	4	\$6.05	0	6	\$6.60 \$0.0	0 50	% \$0.00	0	9	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$74
0511-053-9895-5	208 1/2 FORTON ST	KING COLE LLC	912 ERIN ST	MADISON WI 53715 SEC 5-5-11 PRT SE14/SW1/4 BEG 30 RD 4 FT N & 16 RD E OF NW COR RLK 11 O P TH N 8 RD E 4 RD S R DW TO POB	5	\$29.70	\$148.50	50%	\$ 74.25	0	4	\$6.05	0	6	\$6.60 \$0.0	0 50	% \$0.00	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$74
0511-053-9905-2	200 FORTON ST	ROBERT H HANSSEN	10 DORFMEISTER CT	MADISON WI 53714 R1018/576 SEC 5-5-11 PRT SE1/4 SW1/4 BEG 24 RD E OF E LN PAG E ST ON N LN FORTON ST TH E 4 RD N 8 RD W 4 RD S 8 RD TO POB	0	\$29.70	\$0.00	50%	s -	25	4	\$6.05	0	6	\$6.60 \$151.	25 50	% \$75.63	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$76
0511-053-9925-8		DAN M STOKSTAD	140 FORTON ST	STOUGHTON. WI 53581 FORTONS ADDN BLOCK 1 LOT 1 EXC E 49.5 FT THR	12	\$29.70	\$356.40	50%	\$ 178.20	75	4	\$6.05	0	6	\$6.60 \$453.	75 50	% \$226.88	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$405
0511-053-7501-4		RALPH J PELKEY		W EVANSVILLE WI 53058 FORTONS ADD E 49.5 FT OF LOT 1 W 32 1/2 FT LOT 11 BLOCK 1	12	\$29.70	\$356.40	50%	\$ 178.20	0	4	\$6.05	0	6	\$6.60 \$0.0	0 50	% \$0.00	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$178
	215 FORTON ST	SUSAN K SORENSON	215 FORTON ST	STOUGHTON WI 53889 R778/182 FORTONS ADD N 6 FT LOT 10 & E 99 FT LOT 11	17	\$29.70	\$504.90	50%	\$ 252.45	0	4	\$6.05	0	6	\$6.60 \$0.0	0 50	% \$0.00	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$252
0511-053-7621-9		GENE R ANDERSON MARTIN O VAAGE	205 FORTON ST	STOUGHTON WI 53899 FORTON'S ADDN BLOCK 2 W 66 FT OR WI/2 LOT 10 STOUGHTON WI 53899	0	\$29.70	\$0.00	50%	s -	0	4	\$6.05	75	6	\$6.60 \$495.0	00 50	% \$247.50	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$248
0511-053-7740-5		SALLY A ANDERSON	103 FORTON ST	FORTON'S ADDN BLOCK 2 LOT 11 EXC W 118.5 FT THE STOUGHTON WI 53589	10	\$29.70	\$297.00	50%	\$ 148.50	0	4	\$6.05	0	6	\$6.60 \$0.0	0 50	% \$0.00	0	6	\$6.60	\$0.00	100%	\$0.00	0	\$5.50	\$0.00	100%	\$0.00		\$149

2014 Street Reconstruction Preliminary Assessments 4-17-2014

Professor Prof								Curb & Gut	ter	Percent					Sidewal	lk			Percent		Ap	ron Replaceme	ent		Percent	Assessed	Total Assessment
Mathematical part	Parcel Number	Property Address	Owners Name	Owners Address	Owners City	Lot Description	Length (Et)	Unit Cost	Total Cost	Assessible	Assessed Costs	Area (Sa Et)	Thicknes	Unit Cost	2nd Area	Thickness (inch)	Unit Cost	Total Cost	Assessible	Assessed Costs	Area (Sq. Ft.)	Thickness (inch)	Unit Cost	Total Cost		Costs	
1. 1. 1. 1. 1. 1. 1. 1.	291/0511-061-5774-0	1114 Oakwood Ct	Pollin I Forgertad	1114 Onlywood Ct	Stoughton WI 52599	NINTH ADDITION TO HILL OPEST LO	0.0	\$32.00	\$0.00	50%	s -	(- ()	\$5.50	(54.11.)	()	\$6.00	\$2,887.50	50%	\$1,443.75			\$6.00	\$0.00	100%	\$0.00	\$1 442 75
Mathematical State						Ī	0.0	\$32.00	\$0.00	50%	s -	532	4	\$5.50		6	\$6.00	\$2,926.00	50%	\$1,463.00		6	\$6.00	\$0.00	100%	\$0.00	
1.00 1.00						Ī	0.0	\$32.00	\$384.00	50%	\$ 192.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
			LVGIO 11					\$32.00	\$1,472.00	50%	\$ 736.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	********
						Ī		\$32.00	\$1,120.00	50%	\$ 560.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
Part					,	Ī		\$32.00	\$192.00	50%	\$ 96.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
Mile								\$32.00	\$320.00	50%	\$ 160.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
No. Column Colu					,		10.0					0	4			6						6					
Column C							18.0	\$32.00	\$320.00	50%	\$ 160.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
Part							6.0	\$32.00	\$192.00	50%	\$ 96.00	540	4	\$5.50		6	\$6.00	\$2 970 00	50%	\$1 485 00		6	\$6.00	\$0.00	100%	\$0.00	
1													4		70	6		. ,		.,	90						
Column C										1					70	6				. ,	00			-			4-100000
Part Column Col								*******	* 1,000.00			-				-		*****		*****	110			*****			
Column C					,					 											110		• • • • •				
Part Control Contr	281/0611-314-6435-9	1012 Smedal Dr.	Steven L Campbell	1012 Smedal Dr.	Stoughton, WI 53589	FOURTH ADDITION TO SCENIC HEI																					\$160.00
Part	281/0611-314-6462-2	1017 Smedal Drive	JEFFREY C JOHNSON	1017 Smedal Drive	Stoughton, WI 53589	LOT 2 CSM 12662 CS79/333-334 03-			*1,000					******		б				********		-		4			\$965.00
Part Column Col	281/0611-314-6656-2	1020 Smedal Drive	EDWARD & JUDITH WALTHER	1914 BARBER DRIVE	Stoughton, WI 53589	SCENIC HEIGHTS, 6TH ADD LOT 20	27.0			50%					20	6	-			\$170.00		6					\$602.00
Part	281/0611-314-6667-9	1028 Smedal Drive	RICHARD & JACALYN NELSON	1028 Smedal Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH	8.0	\$32.00	\$256.00	50%	\$ 128.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$183.00
Column C	281/0611-314-6678-6	1102 Smedal Drive	ALAN G HILLS	1100 Smedal Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH	19.0	\$32.00	\$608.00	50%	\$ 304.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$359.00
Part Secret Sec	281/0611-314-6692-2	1108 Smedal Dr.	Scott L Sundby	1108 Smedal Dr.	Stoughton, WI 53589	LOT 2 CSM 12487 CS78/86&88-6/24/	13.0	\$32.00	\$416.00	50%	\$ 208.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$208.00
	281/0611-314-6692-2	1110 Smedal Dr.	Stephen B Gullick and Gregory A M	2812 Lakewood Cir	Stoughton, WI 53589	LOT 1 CSM 12487 CS78/86&88-6/24/	54.0	\$32.00	\$1,728.00	50%	\$ 864.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$864.00
Section Control Plant Cont	281/0611-314-6700-7	1116 Smedal Dr.	Claude L Gunderson	6017 N Old Hwy 92	Evansville, WI 53536	SCENIC HEIGHTS SEVENTH ADDIT	96.0	\$32.00	\$3,072.00	50%	\$ 1,536.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$1,536.00
Second	281/0611-314-6546-5	1101 Palmer Drive	LLOYD BARRY LAUFFER	1101 Palmer Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH	27.0	\$32.00	\$864.00	50%	\$ 432.00	20	4	\$5.50	44	9	\$6.00	\$374.00	50%	\$187.00		6	\$6.00	\$0.00	100%	\$0.00	\$619.00
Section Sect	281/0611-314-6557-2	1109 Palmer Drive	KEITH MISUSTIN	1109 Palmer Drive	Stoughton WI 53589	SIXTH ADDITION TO SCENIC HEIGH	20.0	\$32.00	\$640.00	50%	\$ 320.00	80	4	\$5.50		6	\$6.00	\$440.00	50%	\$220.00		6	\$6.00	\$0.00	100%	\$0.00	\$540.00
STATE Part							36.0	\$32.00	\$1,152.00	50%	\$ 576.00	40	4	\$5.50		6	\$6.00	\$220.00	50%	\$110.00		6	\$6.00	\$0.00	100%	\$0.00	
Second							0.0	\$32.00	\$0.00	50%	ş -	124	4	\$5.50		6	\$6.00	\$682.00	50%	\$341.00		6	\$6.00	\$0.00	100%	\$0.00	
25001314-652-4 177 Palmar Diss. Mil Traw B. Linkows Palmar Diss. M							11.0	\$32.00	\$352.00	50%	\$ 176.00	60	4	\$5.50		6	\$6.00	\$330.00	50%	\$165.00		6	\$6.00	\$0.00	100%	\$0.00	
25/00/13/14/693-4 17/0 Palmer Dine 25/04/13/14/693-4 17/04/13/14/693-4	281/0611-314-6777-6	1124 Palmer Drive	MATTHEW & TAMARA HOUSER	1124 Palmer Drive			26.0	\$22.00	\$900.00	50%	\$ 400.00		4	\$6.60	44		\$6.00	\$274.00	50%	\$197.00		6	\$6.00	\$0.00	100%	\$0.00	\$341.00
28/08/13/14-693-4 777 Palmer Dive	281/0611-314-6535-8	1709 Palmer Drive	LISA L KVALHEIM	1709 Palmer Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH									***	-											\$587.00
281081131446902 1728 Palmer Dine Socythus, WI SSSS SSTH ADDITION TO SCENCHEIGHT 7.0 \$32.00 \$576.	281/0611-314-6524-1	1717 Palmer Drive	RYAN & NATASHA TESCH	1717 Palmer Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH			.,							-											\$725.00
2810611-314-6607-3 1753 Palmer Dive	281/0611-314-6513-4	1725 Palmer Drive	TERRY & CYNTHIA MARTZ	1725 Palmer Drive	Stoughton, WI 53588	SIXTH ADDN TO SCENIC HEIGHTS	35.0	\$32.00	\$1,120.00	50%	\$ 560.00		4	\$5.50		6	\$6.00	\$330.00	50%	\$165.00		6	\$6.00	\$0.00	100%	\$0.00	\$725.00
281/0611-314-6602-4 [180] Palmer St. Shoughton, WI 53569 SIXTH ADDITION TO SCENIC HEIGH 12 20 0 51,120 0 50% 5 500 0 50% 5 500 0 50% 5 500 0 6 56.00 50.00 100% 50.00 50% 50.00 100% 50.00 50% 50.00 50% 50.00 50.00 50% 50.00 50.00 50% 50.00 50% 50.00 50% 50.00 50.00 50% 50.00 50.00 50%	281/0611-314-6590-1	1726 Palmer Drive	JOSEPH & JOYCE CAMPBELL	1726 Palmer Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH	7.0	\$32.00	\$224.00	50%	\$ 112.00	128	4	\$5.50		6	\$6.00	\$704.00	50%	\$352.00		6	\$6.00	\$0.00	100%	\$0.00	\$464.00
2810811-314-6801-4 130 Palmer Drive Stoughton, WI S589 SIXTH ADDITION TO SCENIC HEIGH S LV S20.0 S416.00 S576.00 S480.00 S73.00 S480.00 S73.00 S480.00 S	281/0611-314-6502-7	1733 Palmer St.	Howard and Joanne Vander Zander	1733 Palmer St.	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH	27.0	\$32.00	\$864.00	50%	\$ 432.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$432.00
281/0811-314-6812-4 1802 Palmer St. 281/0811-314-6812-4 1802 Palmer St. 31.00 Annual Shelley Pagaments I. 800 palmer St. Stoughton, WI 53589 SIXTH ADDITION TO SCENIC HEIGH 28.0 \$32.0 \$896.00 \$50% \$280.00 \$50% \$0.00 \$50% \$0.00 \$50% \$0.00 \$6 \$6.00 \$0.00 \$100% \$0.00 \$3448.00	281/0611-314-6601-7	1734 Palmer Drive	BARBARA L MANSON	1734 Palmer Drive	Stoughton, WI 53589	SIXTH ADD TO SCENIC HEIGHTS LI	35.0	\$32.00	\$1,120.00	50%	\$ 560.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$615.00
821/0511-314-6612-4 1802 Palmer St. John and Shelley Paquette 1802 Palmer St. Stoughton, WI 53589 SCENC HEIGHTS SIXTH ADDITION TO SCENIC HEIGH 28.0 \$2.00 \$576	281/0611-314-6491-1	1801 Palmer Drive	JOHN CORDIO	1801 Palmer Drive	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH	13.0	\$32.00	\$416.00	50%	\$ 208.00	60	4	\$5.50		9	\$6.00	\$330.00	50%	\$165.00		6	\$6.00	\$0.00	100%	\$0.00	\$373.00
281/0611-314-6480-2 1809 Palmer St. Robert and Lusar Dedrick 1809 Palmer St. Stoughton, WI 53589 SCENIC HEIGHTS SIXTH ADD LOT 18.0 \$2.00 \$576.00 50% \$ 288.00 0 4 \$5.50 6 \$6.00 \$0.00 50% \$0.00 50% \$0.00 100% \$0.00 \$247.00 \$2.00 \$	281/0611-314-6612-4	1802 Palmer St	John and Shelley Paquette		Staughton WI 53589	SIXTH ADDITION TO SCENIC HEIGH	28.0	\$32.00	\$896.00	50%	\$ 448.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
281/0611-314-662-1 1810 Palmer Drive TIMOTHY & SHELBY THORSON 1810 Palmer Drive Stoughton, WI 53589 SIXTH ADDITION TO SCENIC HEIG 2.0 \$32.00 \$384.00 50% \$5 + 192.00 2.0 4 \$5.50 6 \$6.00 \$510.00 50% \$56.00 6 \$6.00 \$0.00 100% \$0.00 \$247.00 \$281/0611-314-662-1 1817-1819 Palmer Sixtitistion Tr 1400 Sundst Ln. Stoughton, WI 53589 SIXTH ADDITION TO SCENIC HEIG 2.0 \$32.00 \$384.00 50% \$5 + 48.00 0 4 \$5.50 2.0 6 \$6.00 \$120.00 50% \$56.00 6 \$6.00 \$0.00 100% \$0.00 \$5588.00 \$281/0611-314-663-4 1818 Palmer Drive MICKY L WAAG 1818 Palmer Drive Stoughton, WI 53589 SCENIC HEIGHTS SIXTH ADD LOT T 12.0 \$32.00 \$384.00 50% \$5 + 192.00 40 4 \$5.50 6 \$6.00 \$520.00 50% \$510.00 6 \$6.00 \$0.00 100% \$0.00 \$302.00							18.0	\$32.00	\$576.00	50%	\$ 288.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	
281/0611-314-6469-5 1817-1819 Palmer S Kittletson TT 1400 Sundt Ln. Stoughton, WI 53589 SIXTH ADDITION TO SCENIC HEIGH 28.0 \$32.00 \$896.00 50% \$ 448.00 0 4 \$55.50 20 6 \$6.00 \$120.00 55% \$60.00 6 \$6.00 \$0.00 100% \$0.00 \$508.00 \$281/0611-314-6469-5 1818 Palmer Drive MICKY L WAAG 1818 Palmer Drive Stoughton, WI 53589 SCENIC HEIGHTS SIXTH ADD LOT 1 2.0 \$32.00 \$384.00 50% \$ 192.00 40 4 \$55.50 6 \$6.00 \$220.00 55% \$110.00 6 \$6.00 \$0.00 100% \$0.00 \$302.00 \$3					,		12.0	\$32.00	\$384.00	50%	\$ 192.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	
281/0611-314-6604-5 1826 Palmer Street LEONNEJ KICK 1105 SMEDAL DRIVE Stoughton, WI 53589 SCENIC HEIGHTS SIXTH ADDITION TO SCENIC HEIGH S 20.0 \$38.00 50% \$ 192.00 40 4 \$5.50 6 \$6.00 \$220.00 50% \$110.00 6 \$6.00 \$0.00 100% \$0.00 \$30							20.0	\$32.00	\$896.00	50%	\$ 448.00	0	4	\$5.50	20	6	\$6.00	\$120.00	50%	\$60.00		6	\$6.00	\$0.00	100%	\$0.00	
281/0611-314-6463-48 1818 Palmer Drive MICKY L WAAG 1818 Palmer Drive Stoughton, WI 53599 SCENIC HEIGHTS SIXTH ADD LOTT \$302.00 281/0611-314-6460-28 1825 Palmer St. Kathleen S Gill 1825 Palmer St.							12.0			50%		40	4			6			50%	\$110.00		6		\$0.00	100%	\$0.00	
28/10/511-314-4646/2-1826-Paimer St. Ramineen St. Raminee								\$32.00	\$800.00	50%	\$ 400.00		4	\$5.50		6	\$6.00	\$660.00	50%	\$330.00		6	\$6.00	\$0.00	100%	\$0.00	
28/10/511-061-1247-51305 Lincoln Avenue JERRY A FURSETH 1305 Lincoln Avenue Stoughton, WI 53599 SEC 6-6-11 PRT NE1/4NE1/4 BEG in 0.0 \$32.00 \$0.00 50% \$ - 156 4 \$5.50 6 \$6.00 \$858.00 50% \$429.00 6 \$6.00 \$0.00 100% \$0.00 \$429.00 \$0.00 \$227.00							20.0		-		s -					6				•			•				
281/0511-061-1247-5 1305 Lincoln Avenue JERRY A FURSETH 1305 Linco	281/0611-314-6645-5	1826 Palmer Street	LEONNE J KICK	1105 SMEDAL DRIVE	Stoughton, WI 53589	SIXTH ADDITION TO SCENIC HEIGH		V-0					-							*******		·	*****	*****			\$165.00
287/0511-08-1-1247-21305 Lincoin Avenue JEHRY A FURSE IH 1305 Lincoin Avenue JEHRY A FURSE II 1305 Lincoin Avenue JEHRY A	281/0511-061-8285-5	1224 Lincoln Avenue	RONALD & BARBARA FURSETH	1224 Lincoln Avenue	Stoughton, WI 53589	SEC 6-5-11 PRT NE1/4NE1/4 BEG IN										ь											\$429.00
	281/0511-061-1247-5	1305 Lincoln Avenue	JERRY A FURSETH	1305 Lincoln Avenue	Stoughton, WI 53589	FIFTH ADD TO HILLCREST LOT 77				 	\$ -				28	6											\$227.00
281/0511-061-067-d 1321 Lincoln Avenue KITTLESON TR	281/0511-061-0067-5	1321 Lincoln Avenue	KITTLESON TR	1321 Lincoln Avenue	Stoughton, WI 53589	SCENIC HEIGHTS LOT 7 EXC E 6 F	45.0	\$32.00	\$1,440.00	50%	\$ 720.00	80	4	\$5.50		6	\$6.00	\$440.00	50%	\$220.00		6	\$6.00	\$0.00	100%	\$0.00	\$940.00

2014 Street Reconstruction Preliminary Assessments 4-17-2014

							Curb & Gut	ter	Percent	Assessed				Sidewa	lk			Percent	Accecad	Aj	pron Replaceme	ent		Percent	Assessed	Total Assessment
Parcel Number	Property Address	Owners Name	Owners Address	Owners City	Lot Description	Length (Ft)	Unit Cost	Total Cost	Assessible	Costs	Area (Sq. Ft.)	Thicknes s (inch)	Unit Cost	2nd Area (Sq. Ft.)	Thickness (inch)	Unit Cost	Total Cost	Assessible	Costs	Area (Sq. Ft.)	Thickness (inch)	Unit Cost	Total Cost	Assessible	Costs	
281/0511-061-0320-7	1400 Lincoln Avenue	MARK & JANELLE GEITT	1400 Lincoln Avenue	Stoughton, WI 53589	FIRST ADDITION TO SCENIC HEIGH	11.0	\$32.00	\$352.00	50%	\$ 176.00	94	4	\$5.50	8	6	\$6.00	\$565.00	50%	\$282.50		6	\$6.00	\$0.00	100%	\$0.00	\$458.50
281/0511-061-0078-2	1405 Lincoln Avenue	DANIEL C. POTRATZ AND AMAN			SCENIC HEIGHTS LOT 8	27.0	\$32.00	\$864.00	50%	\$ 432.00	0	4	\$5.50	0	6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$432.00
281/0511-061-0331-4		MICHAEL & FRANCES POINT	1408 Lincoln Avenue		R758/193 FIRST ADDITION TO SCEL	50.0	\$32.00	\$1,600.00	50%	\$ 800.00	16	4	\$5.50		6	\$6.00	\$88.00	50%	\$44.00		6	\$6.00	\$0.00	100%	\$0.00	\$844.00
281/0511-061-0309-2		JOSHUA AND LORI PARISI	1416 Lincoln Avenue		FIRST ADDITION TO SCENIC HEIGH	10.0	\$32.00	\$320.00	50%	\$ 160.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$160.00
281/0511-061-0342-1		MARY F WEISS	1421 Lincoln Avenue		FIRST ADDITION TO SCENIC HEIGH	62.0	\$32.00	\$1,984.00	50%	\$ 992.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$1.047.00
						0.0	\$32.00	\$0.00	50%	s -	140	4	\$5.50		6	\$6.00	\$770.00	50%	\$385.00		6	\$6.00	\$0.00	100%	\$0.00	.,,
281/0511-061-0353-8		JEFFREY & BRIDGET SMITH	1500 Lincoln Avenue		FIRST ADDITION TO SCENIC HEIGH	21.0	\$32.00	\$672.00	50%	\$ 336.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$385.00
		JOSHUA G JOHNSON AND AMAR			COVENANT ADDITION TO SCENIC I	13.0	\$32.00	\$416.00	50%	\$ 208.00	64	4	\$5.50		6	\$6.00	\$352.00	50%	\$176.00		6	\$6.00	\$0.00	100%	\$0.00	\$336.00
		TIMOTHY A KOJO	1507 Lincoln Avenue		COVENANT ADDITION TO SCENIC I	22.0	\$32.00	\$704.00	50%	\$ 352.00		4	\$5.50	80	6	\$6.00	\$480.00	50%	\$240.00		6	\$6.00	\$0.00	100%	\$0.00	\$384.00
		MARK & MELISSA CONNER	1508 Lincoln Avenue		FIRST ADDITION TO SCENIC HEIGH	15.0	\$32.00	\$480.00	50%	\$ 240.00		4	\$5.50	16	6	\$6.00	\$96.00	50%	\$48.00		6	\$6.00	\$0.00	100%	\$0.00	\$592.00
		TIMOTHY J DESPINS	1515 Lincoln Avenue		COVENANT ADDITION TO SCENIC I	30.0	\$32.00	\$960.00	50%	\$ 480.00	20	4	\$5.50	10	6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$288.00
281/0511-061-0375-2	1516 Lincoln Avenue	MEGAN C BUSKAGER	1516 Lincoln Avenue	Stoughton, WI 53589	FIRST ADDITION TO SCENIC HEIGH							4									6					\$535.00
281/0511-061-0653-5	1523 Lincoln Avenue	TODD & KIMBERLY ROBINSON	1523 Lincoln Avenue	Stoughton, WI 53589	COVENANT ADDITION TO SCENIC I	30.0	\$32.00 \$32.00	\$960.00 \$640.00	50%	\$ 480.00 \$ 320.00	112	4	\$5.50 \$5.50	0	6	\$6.00 \$6.00	\$616.00 \$0.00	50%	\$308.00		6	\$6.00 \$6.00	\$0.00	100%	\$0.00	\$788.00
281/0511-061-0386-9	1524 Lincoln Ave.	Kevin and Kathie Hermanson	1524 Lincoln Ave.	Stoughton, WI 53589	FIRST ADDITION TO SCENIC HEIGHTS L										б						6					\$320.00
281/0511-061-0664-2	1531 Lincoln Avenue	RICHARD & WANITA STRICKER	1531 Lincoln Avenue	Stoughton, WI 53589	COVENANT ADDITION TO SCENIC I	4.0	\$32.00	\$128.00	50%	\$ 64.00	156	4	\$5.50	68	б	\$6.00	\$1,266.00	50%	\$633.00		6	\$6.00	\$0.00	100%	\$0.00	\$697.00
281/0511-061-0675-9	1539 Lincoln Avenue	JEFFREY A THOMPSON	1539 Lincoln Avenue	Stoughton, WI 53589	COVENANT ADDITION TO SCENIC I	26.0	\$32.00	\$832.00	50%	\$ 416.00	392	4	\$5.50	20	6	\$6.00	\$2,276.00	50%	\$1,138.00		6	\$6.00	\$0.00	100%	\$0.00	\$1,554.00
281/0511-061-0408-2	1540 Lincoln Avenue	JAMES W RHINERSON & PEMA	1540 Lincoln Avenue	Stoughton, WI 53589	FIRST ADDN TO SCENIC HEIGHTS	68.0	\$32.00	\$2,176.00	50%	\$ 1,088.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$1,143.00
281/0611-314-7660-4	1548 Lincoln Avenue	JAMES & ANGELA POSCH	1548 Lincoln Avenue	Stoughton, WI 53589	SECOND ADD TO SCENIC HEIGHTS	8.0	\$32.00	\$256.00	50%	\$ 128.00	40	4	\$5.50		6	\$6.00	\$220.00	50%	\$110.00		6	\$6.00	\$0.00	100%	\$0.00	\$238.00
281/0611-314-7649-9	1556 Lincoln Avenue	MARK & SHELLEY ANDERSON	1556 Lincoln Avenue	Stoughton, WI 53589	SECOND ADDN TO SCENIC HEIGHT	0.0	\$32.00	\$0.00	50%	\$ -	40	4	\$5.50		6	\$6.00	\$220.00	50%	\$110.00		6	\$6.00	\$0.00	100%	\$0.00	\$110.00
281/0611-314-6711-4	1825 Lincoln Ave.	Walker Rev Living Tr, Donald R and	838 Center Rd	Stoughton, WI 53589	SCENIC HEIGHTS SEVENTH ADDIT	132.0	\$32.00	\$4,224.00	50%	\$ 2,112.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$2,112.00
281/0511-061-5906-9	1011 Sundt Ln.	Juan and Lisa Olveda	1011 Sundt Ln.	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	7.0	\$32.00	\$224.00	50%	\$ 112.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$112.00
281/0511-061-5884-6	1016 Sundt Lane	ANDREW & BETTE TRIMBLE	1016 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	40	4	\$5.50		6	\$6.00	\$220.00	50%	\$110.00		6	\$6.00	\$0.00	100%	\$0.00	\$110.00
281/0511-061-5917-6	1019 Sundt Ln.	Robert and Sarah Huberty	1019 Sundt Ln.	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	22.0	\$32.00	\$704.00	50%	\$ 352.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$352.00
281/0511-061-5873-9	1024 Sundt Lane	PERRY & KIM WENTORF	1024 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	22.0	\$32.00	\$704.00	50%	\$ 352.00	80	4	\$5.50		6	\$6.00	\$440.00	50%	\$220.00		6	\$6.00	\$0.00	100%	\$0.00	\$572.00
281/0511-061-5928-3	1025 Sundt Lane	DAVID & CHERYL PRICE	1025 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	s -	20	4	\$5.50	20	6	\$6.00	\$230.00	50%	\$115.00		6	\$6.00	\$0.00	100%	\$0.00	\$115.00
281/0511-061-5862-2	1032 Sundt Lane	MERRI E OXLEY	1032 Sundt Lane	Stoughton, WI 53589	HILLCREST, 10TH ADD LOT 152	14.0	\$32.00	\$448.00	50%	\$ 224.00	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$279.00
281/0511-061-9661-7	1035 Sundt Ln.	Furseth Rev Living Tr, Ronald & Ba	1224 Lincoln Ave.	Stoughton, WI 53589	SEC 6-5-11 PRT S1/2 NE1/4 COM AT	13.0	\$32.00	\$416.00	50%	\$ 208.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$208.00
281/0511-061-5851-5	1040 Sundt Lane	PETER & THERESA IVES	1040 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	60	4	\$5.50		6	\$6.00	\$330.00	50%	\$165.00		6	\$6.00	\$0.00	100%	\$0.00	\$165.00
281/0511-061-5840-8	1048 Sundt Lane	KAY T LUKES	1048 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	24	4	\$5.50	20	6	\$6.00	\$252.00	50%	\$126.00		6	\$6.00	\$0.00	100%	\$0.00	\$126.00
281/0511-061-5939-0	1055 Sundt Lane	JASON & SARAH GATES	1055 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	s -	30	4	\$5.50	30	6	\$6.00	\$345.00	50%	\$172.50		6	\$6.00	\$0.00	100%	\$0.00	\$172.50
281/0511-061-5829-3	1056 Sundt Lane	BRANDON & CYNTHIA PIETRUS	1056 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	20	4	\$5.50		6	\$6.00	\$110.00	50%	\$55.00		6	\$6.00	\$0.00	100%	\$0.00	\$55.00
281/0511-061-5961-2	1101 Sundt Ln.	Daniel and Jennifer Christensen	1101 Sundt Ln.	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	14.0	\$32.00	\$448.00	50%	\$ 224.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$224.00
281/0511-061-5972-9	1109 Sundt Lane	ROGER & NANCY ODALEN	1109 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	14.0	\$32.00	\$448.00	50%	\$ 224.00	40	4	\$5.50	20	6	\$6.00	\$340.00	50%	\$170.00		6	\$6.00	\$0.00	100%	\$0.00	\$394.00
281/0511-061-5818-6	1110 Sundt Lane	RICHARD& BARBARA ENTWISTI	1110 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	10.0	\$32.00	\$320.00	50%	\$ 160.00	16	4	\$5.50	4	6	\$6.00	\$112.00	50%	\$56.00		6	\$6.00	\$0.00	100%	\$0.00	\$216.00
281/0511-061-5983-6	1117 Sundt Ln.	Raymond and Mary Anderson	1117 Sundt Ln.	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	25.0	\$32.00	\$800.00	50%	\$ 400.00	0	4	\$5.50		6	\$6.00	\$0.00	50%	\$0.00		6	\$6.00	\$0.00	100%	\$0.00	\$400.00
281/0511-061-5807-9	1118 Sundt Lane	BRUCE A HANSEN	1118 Sundt Lane	Stoughton, WI 53589	HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	72	4	\$5.50		6	\$6.00	\$396.00	50%	\$198.00		6	\$6.00	\$0.00	100%	\$0.00	\$198.00
281/0511-061-5796-3		JEFFERY & VICTORIA RAYMONI			HILLCREST TENTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	12	4	\$5.50		6	\$6.00	\$66.00	50%	\$33.00		6	\$6.00	\$0.00	100%	\$0.00	\$33.00
281/0511-061-5008-6		John & Tina Bowser	1216 Roby Road	Stoughton, WI 53589	HILLCREST SIXTH ADDITION LOT 7	0.0	\$32.00	\$0.00	50%	\$ -	450	4	\$5.50		6	\$6.00	\$2,475.00	50%	\$1,237.50		6	\$6.00	\$0.00	100%	\$0.00	\$1,237.50
281/0511-061-5523-2		Brett & Christine Peterson	1600 Roby Road		HILL CREST EIGHTH ADDITION LOT	0.0	\$32.00	\$0.00	50%	\$ -	768	4	\$5.50		6	\$6.00	\$4,224.00	50%	\$2,112.00		6	\$6.00	\$0.00	100%	\$0.00	\$2 112 00
281/0511-061-9295-1	1025 Chapin Lane	DAVID & MARY CLIFF	1025 Chanin Lane	Stoughton, WI 53589	LOT 2 CSM 4511 CS19/259&260 R61	21.0	\$32.00	\$672.00	50%	\$ 336.00	190	4	\$5.50	10	6	\$6.00	\$1,105.00	50%	\$552.50		6	\$6.00	\$0.00	100%	\$0.00	\$888 50
		DANIEL J PIRKL			LOT 1 CSM 4511 CS19/2598260 R61	26.0	\$32.00	\$832.00	50%	\$ 416.00	36	4	\$5.50		6	\$6.00	\$198.00	50%	\$99.00		6	\$6.00	\$0.00	100%	\$0.00	\$515.00
281/0511-061-9285-3			1026 Chapin Lane			26.0	\$32.00	\$832.00	50%	\$ 416.00	100	4	\$5.50		6	\$6.00	\$550.00	50%	\$275.00		6	\$6.00	\$0.00	100%	\$0.00	
281/0511-082-3132-4	808 W. Main Street	JUHN REINERS	808 W. Main Street	Stoughton, WI 53589	PENEWELL ADD S 99 FT LOT 12 R4		l	l	1							l	I				I		<u> </u>			\$691.00

	Ridge Street Reconstruction - Preliminary Assessments - 4-17-2014																															
Parcel Number	Property Address	Owners Name	Owners Address	Owners City	Lot Description		Curb & Gutte	и	Percent	Assessed			Side	walk Replace	ment			Percent	Assessed	Concret	ie Apron Repla	acement		Percent	Assessed	Asphalt I Replai			Percent	Assessed	Miscellaneous Assessments	Total Assessment
Parcel Number	Property Address	Owners Name	Owners Address	Owners City	Lot Description	Length (Ft)	Unit Cost	Total Cost	Assessible	Costs	Area (Sq. Pt.)	Thickness (inch)	Unit Cost	2nd Area (Sq. Ft.)	Thickness (inch)	Unit Cost	Total Cost	Assessible	Costs	Area (Sq. Ft.)	Thickness (inch)	Unit Cost	Total Cost	Assessible	Costs	Area (sq. ft)	Unit Cost	Total Cost	Assessible	Costs	Note	
0511-054-6670-1	600 RIDGE ST	LYNELLE J. HEINZEROTH	1057 COLINTY HIGHWA	STOUGHTON, WI 5358	O M TURNER ADD BLOCK 6 PRT LOT 12 S 132 FT THF	0	\$16.50	\$0.00	50%	s ·	0	4	\$4.50	0	6	\$5.50	\$0.00	50%	\$0.00	0	6	\$5.00	\$0.00	100%	\$0.00	0	\$5.00	\$0.00	100%	\$0.00		\$0
0511-054-6660-3	608 RIDGE ST	JAMES P CULLIGAN	11449 N CASEY RD	EDGERTON, WI 53534	O M TURNER ADDN BLOCK 6 ALL LOT 11 & LOTS 12 & 13 EXC S 132 FT OF SD LOTS 12 & 13	66	\$16.50	\$1,089.00	50%	\$ 544.50	169	4	\$4.50	62	6	\$5.50	\$1,101.50	50%	\$550.75	85	6	\$5.00	\$425.00	100%	\$425.00	0	\$5.00	\$0.00	100%	\$0.00		\$1,520
0511-054-6640-7		NATHAN A KNUTSON	616 RIDGE ST	STOUGHTON, WI 5358	O M TURNER ADDN BLOCK 6 S 132 FT LOT 10	66	\$16.50	\$1,089.00	50%	\$ 544.50	140	4	\$4.50	88	6	\$5.50	\$1,114.00	50%	\$557.00	102	9	\$5.00	\$510.00	100%	\$510.00	0	\$5.00	\$0.00	100%	\$0.00		\$1,612
0511-054-6587-3	624 RIDGE ST	KIMBERI Y S ROBINSON	624 RIDGE ST	STOUGHTON W/ 5358	O M TURNER ADDN BLOCK 6 LOT 7 EXC S 132 FT THEREOF ALSO LOTS 8 AND 9	132	\$16.50	\$2,178.00	50%	\$1,089.00	0	4	\$4.50	50	6	\$5.50	\$275.00	50%	\$137.50	214	6	\$5.00	\$1,070.00	100%	\$1,070.00	0	\$5.00	\$0.00	100%	\$0.00		\$2,297
0511-054-6597-1		LINDA A KOHUT		BELVIDERE, IL 61008	O M TURNER ADDN BLOCK 6 PRT LOT 7 S 132 FT THF	66	\$16.50	\$1,089.00	50%	\$ 544.50	0	4	\$4.50	0	6	\$5.50	\$0.00	50%	\$0.00	146	6	\$5.00	\$730.00	100%	\$730.00	0	\$5.00	\$0.00	100%	\$0.00		\$1,275
0511-054-6565-9		BARBARA E JACOBSON	1064 TOWER DR	STOUGHTON, WI 5358	O M TURNER ADDN BLOCK 6 W1/2 OF LOT 4 & ALL OF LOTS 5 & 6 EXC S 132 FT OF W1/2 OF LOT 4 & EXC S 132 FT OF E 1/2 OF LOT 5	37	\$16.50	\$610.50	50%	\$ 305.25	60	4	\$4.50	25	6	\$5.50	\$407.50	50%	\$203.75	150	6	\$5.00	\$750.00	100%	\$750.00	0	\$5.00	\$0.00	100%	\$0.00		\$1,259
		GREGORY A QUAM	1090 COLLEEN CT	PLATTEVILLE WI 5381	O M TURNER ADD N 66 FT OF LOT 4 BLOCK 4	0	\$16.50	\$0.00	50%	s -	22	4	\$4.50	0	6	\$5.50	\$99.00	50%	\$49.50	0	6	\$5.00	\$0.00	100%	\$0.00	0	\$5.00	\$0.00	100%	\$0.00		\$50
0511-054-6333-9		MAGGIF STOKSTAD	609 RIDGE ST	STOUGHTON WI 5358	O M TURNER ADDN BLOCK 4 N 66 FT OF LOT 3	66	\$16.50	\$1,089.00	50%	\$ 544.50	181	4	\$4.50	50	6	\$5.50	\$1,089.50	50%	\$544.75	104	6	\$5.00	\$520.00	100%	\$520.00	50	\$5.00	\$250.00	100%	\$250.00		\$1,859
0511-054-6322-2		PHILLIP J KINSMAN	617 RIDGE ST	STOUGHTON, WI 5358	O M TURNER'S ADDN BLOCK 4 LOT 2 ALSO R/W ALG S 14 FT LOT 1 SD BLOCK & PLAT	66	\$16.50	\$1,089.00	50%	\$ 544.50	138	4	\$4.50	50	6	\$5.50	\$896.00	50%	\$448.00	104	6	\$5.00	\$520.00	100%	\$520.00	50	\$5.00	\$250.00	100%	\$250.00	A	\$14,843
0511-054-6311-5		JULIE R PETERSON	220 N LYNN ST	STOUGHTON, WI 5358	O M TURNER ADDN BLOCK 4 LOT 1 SUBJ TO RW ALG S 14 FT THF	66	\$16.50	\$1,089.00	50%	\$ 544.50	0	4	\$4.50	0	6	\$5.50	\$0.00	50%	\$0.00	0	6	\$5.00	\$0.00	100%	\$0.00	0	\$5.00	\$0.00	100%	\$0.00		\$545
0511-054-6454-3		DETED A DADTELT	THE PINGE ST	STOUGHTON WI E259	O M TURNER ADD LOT 4	66	\$16.50	\$1,089.00	50%	\$ 544.50	250	4	\$4.50	0	6	\$5.50	\$1,125.00	50%	\$562.50	0	6	\$5.00	\$0.00	100%	\$0.00	0	\$5.00	\$0.00	100%	\$0.00		\$1,107
0511-054-6443-6		ANNETTE G AARERG-II IREWICZ	TOT MUCAL DI	MARI BORO N. 107746	O M TURNERS ADDN BLOCK 5 LOT 3	34	\$16.50	\$561.00	50%	\$ 280.50	0	4	\$4.50	0	6	\$5.50	\$0.00	50%	\$0.00	0	6	\$5.00	\$0.00	100%	\$0.00	0	\$5.00	\$0.00	100%	\$0.00		\$281

Key Note	Miscellaneous Assessments	Percent Assessible	Assessed Costs
A	Retaining Wall	100%	\$13,080.00